Equations, Intercepts, Midpoint & Distance RF#7 & 8
Intercepts
· What is a y-intercept?




-- What is an x-intercept?
· How do you find a y-intercept



--  How do you find an x-intercept
· Given a graph?





Given a graph?
· Given an equation?





Given an equation?
[image: image1.emf]22


xy


-=




22 xy 


[image: image2.emf](


)


1


,4,2


2


m


=-




 

1 ,4,2

2

m 


Graph the following:

a)  y = 2/3x – 4



b)   x + 2y = 4
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Find the intercepts.
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b) 3x + 4y – 12 = 0 
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c)  
Write in equation form y = mx + b 
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d)  
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Write the equation of a line that is PARALLEL to the given line and passes through the given point.  

a)  




b)  

Write the equation of a line that is PERPENDICULAR to the given line and passes through the given point.  
  y = 1/5x -2: (-2.4)





 

Distance and Midpoint






a) Calculate the distance between (4, -3) and (-3, 8).

b) What is the midpoint of the line segment whose endpoints are (6, 0) and (3, 7)?

c) Show that the triangle that has (0, 1), (2, 3) and (2, -1) as vertices is an isosceles triangle
Rewrite each of the following:

a) 2x + 4y – 8 = 0 in slope y intercept form

b) Y + 3 = 4(x – 5) in general form
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c) Using graph, write in slope point form
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